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1. BSEREIT AR RS MR W R RMEE ()

(A) KBS E (B) BiBKE (C) KIBI&E (D) HiBEE
2. = MEERBOERITFER, FHED ERGE ()

(A) YRR S5y EARBER 6T AL (B) AG2=0

(C) IE. WM A% (D) RMZHE T R 2 B 5
3. WEUKHIRE R ¢, MBBEMAN Ky HHEBR 1, WiEmD c(OH)A ( )

(A) %c (B) %,/Kb-c (©) K, -c/2 (D) 2¢

4. BETZRBRETMERBMING (),

(A) Btk (B) P (©) EE—#&

5. FHIEMHIEMUEWITEEERNE ()

(A) HF  (B) CH, (C) HCOOH (D) H3BO;
6. EBEMBHHERTAR ()

(A) SR TREHHE (B) KRBT

(C) IR TZHM (D) KR F1EE

7. B 298K fe FE— TE S MM E A 0.020 mol - L™, MAEE pH 3 11.0, REKIR )
(A) 5.5x10™ (B) 5.5x10°° (C) 5x107 (D) 5x10¢

8. MEBAKPENDE BB EHEILIEATE ()

(A) pH (B) T&#%E (C) R (D) COD

9. WiRT, HIRERN 0.1 mol/L # HAc ¥ i\ — £ NaAc mRiE 2 AR, TTRER
ERBURE ()

(A) HAc 9 K, 34K (B) HAc 9 KD R (C) Wil pH A (D) 1 pH /I
10. EBRIEEE FBAR(CO™ Co) SRR A AR failh, MBI B 164V, Mite:

BRAGIR. BEQ° (CL/CH=1.36V, [: MRt ERE S ()
(A) 1.64V (B) 0.18V (C) 028V (D) -0.28 V
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R (8 15 4, 330 )

1. FRMERMN, YHMRMNERMNTERZEME? FERRMERMEELHNES.
2. BABKLF R4S E? Fe(OH): BRI A AR EE? LLBIRESN 1 mol/L
B FFIEH: NaCl. NaySO,4 F1 NasPO, XF Fe(OH); IR LA SIHIK/INRF -

=\ HEE (8 30 9, & 90 )
1. %A (Sn0y) HIEES, FEWATATIILMAZE: (1) BN A, #2249
iR (2) ARk (LLERIH) BET A (MRZE COy): 3) A H@REET G (In#=
FKER). SHFEMABERUTEME—L, RFBARERAEHERTHE, HEAFR
BT ENE.

AHn® (Sn0, s, 298.15K) =-580.7 ki-mol™’

AHn® (COy, g, 298.15K) =-393.509 kJ-mol”’

AH® (H,0, g, 298.15K) =-241.82 kJ'mol”

Sm® (SnO,, s, 298.15K) =52.3 J'mol™ K’

S (Sn, s,298.15K) =51.55J'mol" K

Sw® (0, g,298.15K) =205.138 J'mol ™K'

Sm (C,'s,298.15K) =5.704 ]'mol K"

Sm® (CO4, g,298.15K) =213.74 J'mol' K

S’ (Hy, g, 298.15K) =130.68 J-mol" K

Sm® (H,0, g, 298.15K) = 188.825 J'mol™ K

2. LHEBVEEBP F¥' A Mg™REY 0.01 mol- L', Ri+E Ui FARL BI85 — &1 pH
8, {EXMRTE LR B E I,

($m: —BOARB R P RUUES FRIRE<1.0x10°mol - L™ B, BIAIANZE TR
TET, KyP[Fe(OH);] =2.64x107°, K,°[Mg(OH),] =5.61x10"2)

3. AEE c(Cu™) =1.0mol- L' M c(Ag") =1.0mol- L' HIIBAEBFMANER. (1) A
ERENE? Q) YBE_FERBTEN, F—RHEBEBRPHIRENIZD? (B4
@’ (Ag'/Ag)=+0.799V, @' (Fe**/Fe)=-0.447V, ¢°(Cu> /Cu)=+0.3419V)
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